

PAF 462 n° 371

$$y^4 + 2ay^2 - 2ae^2 = (y^2 + 6a)(y^2 - 4a)$$

$$s = 2a \quad 6a - 4a$$

$$p = -2ae^2$$

$$x^6 + ax^3 - 6a^2 = (x^3 + 3a)(x^3 - 2a)$$

$$s = a \quad 3a - 2a$$

$$p = -6a^2$$

PAF 468 n° 493

$$\frac{1}{4} a^4 b^6 - \frac{1}{3} a^2 b^3 + \frac{1}{9} = \left(\frac{1}{2} a^2 b^3 - \frac{1}{3} \right)^2$$

PAF 468 n° 496

$$8a^3 - 6a^2 b + \frac{3}{2} a b^2 - \frac{1}{8} b^3 = \left(2a - \frac{1}{2} b \right)^3$$

PAF 468 n° 501

$$2x^6 - x^5 + 2x^4 - x^3 = x^3(2x^3 - x^2 + 2x - 1) =$$

$$x^3 [x^2(2x-1) + (2x-1)] = x^3(2x-1)(x^2+1)$$

PAF 468 n° 505

$$x^4 - 8x^2y^2 + 16y^4 = (x^2 - 4y^2)^2 = (x - 2y)^2(x + 2y)^2$$

PAF 468 n° 518

$$x^8 + 7x^4 - 8 = (x^4 - 1)(x^4 + 8) = (x^2 - 1)(x^2 + 1)(x^4 + 8) =$$

$$s = 7 \quad 8 - 1$$

$$p = -8$$

$$= (x-1)(x+1)(x^2+1)(x^4+8)$$

ПАГ 470 p° 555

$$e^3 - 3e + 2 = (e-1)(e^2 + e - 2) = (e-1)(e-1)(e+2) = \boxed{(e-1)^2(e+2)}$$

$$\begin{array}{c|ccc|c} & 1 & 0 & -3 & 2 \\ 1 & & 1 & 1 & -2 \\ \hline & 1 & 1 & -2 & \neq \end{array}$$

$$\begin{array}{l} \rightarrow s=1 \\ p^2-2 \quad 2 \quad -1 \end{array}$$

ПАГ 472 p° 580

$$\frac{1}{2t} - 2at^3 = \left(\frac{1}{3} - at\right)\left(\frac{1}{9} + at^2 + t\right)$$

$$8x^3 - 5^3 = (2x^3 - 5)(4x^6 + 5^2 + 2x^3 \cdot 5)$$

ПАГ 474 p° 613

$$30x^2y^2 - 2xy^3 - 4y^4 =$$

$$2y^2(15x^2 - xy - 2y^2) = 2y^2[15x^2 - 6yx + 5yx - 2y^2] =$$

$$\begin{array}{l} \Downarrow \\ s = -y \quad -6y \quad +5y \\ p = -30y^2 \end{array} = 2y^2[3x(5x-2y) + y(5x-2y)]$$

$$= \boxed{2y^2(5x-2y)(3x+y)}$$

ПАГ 476 p° 658

1° метод

$$25x^2 - 10x + 1 = 0$$

$$s = -10$$

$$p = +25 \quad -5 \quad -5$$

$$25x^2 - 5x - 5x + 1 = 0$$

$$5x(5x-1) - (5x-1) = 0$$

$$(5x-1)(5x-1) = 0$$

$$5x-1=0$$

$$5x-1=0$$

$$\left(x = \frac{1}{5}\right) \text{ ПОСТЕРЖИТА' 2}$$

2° метод

$$p \quad 25x^2 - 10x + 1 = 0$$

$$(5x-1)^2 = 0$$

$$5x-1=0$$

$$\left(x = \frac{1}{5}\right)$$

ПОСТЕРЖИТА' 2

PAE 476 P° 667

(2)

$$3x^3 + 6x^2 - 12x - 24 = 0$$

$$3(x^3 + 2x^2 - 4x - 8) = 0$$

$$3[x^2(x+2) - 4(x+2)] = 0$$

$$3(x^2 - 4)(x+2) = 0$$

$$3(x-2)(x+2)(x+2) = 0$$

$$3(x-2)(x+2)^2 = 0$$

$3 \neq 0$ SUPERFLUO

$$x-2=0$$

$$x=2$$

$$(x+2)^2=0 \rightarrow x+2=0$$

$$x=-2$$

POSTERIORITA 2

PAE 476 P° 668

$$(25x^2 - 9)(x+2) = 0$$

$$(5x-3)(5x+3)(x+2) = 0$$

$$5x-3=0$$

$$x = \frac{3}{5}$$

$$5x+3=0$$

$$x = -\frac{3}{5}$$

$$x+2=0$$

$$x = -2$$

PAE 476 P° 670

$$(x-4)^3(x-2)^2 = 0$$

$$(x-4)^3 = 0 \rightarrow x-4=0 \quad x=4$$

POSTERIORITA 3

$$(x-2)^2 = 0 \rightarrow x-2=0 \quad x=2$$

POSTERIORITA 2

Pat 476 P° 673

3

$$x^4 - 2x^3 - 8x^2 + 18x - 9 = 0$$

$$\begin{array}{c|cccc|c} & 1 & -2 & -8 & 18 & -9 \\ 1 & & 1 & -1 & -9 & 9 \\ \hline & 1 & -1 & -9 & 9 & \end{array}$$

$$(x-1)(x^3 - x^2 - 9x + 9) = 0$$

$$(x-1)[x^2(x-1) - 9(x-1)] = 0$$

$$(x-1)(x^2 - 9)(x-1) = 0 \quad (x-1)^2(x-3)(x+3) = 0$$

$$(x-1)^2 = 0 \quad \boxed{x=1 \text{ повторилась } 2}$$

$$x-3=0$$

$$x+3=0$$

$$x=3$$

$$x=-3$$

Pat 478 P° 691

$$5x^2 + 5x - 10 = 5(x^2 + x - 2) = 5(x+2)(x-1)$$

$$y - x^2y = y(1 - x^2) = y(1-x)(1+x) = -y(x-1)(1+x)$$

$$xy - y - 5x + 5 = y(x-1) - 5(x-1) = (y-5)(x-1)$$

$$\text{НОД} = x-1$$

$$\text{МНОМ} = 5y(x-1)(x+1)(y-5)(x+2)$$

106 478 no 692

23

$$3e^3 - 12e^2 + 9e = 3e(e^2 - 4e + 3) = 3e(e-3)(e+1)$$

$$e^3 - e^2 - 9e + 8 = e^2(e-1) - 9(e-1) = (e^2-9)(e-1) = (e-3)(e+3)(e-1)$$

$$2e^4 - 4e^3 + 2e^2 = 2e^2(e^2 - 2e + 1) = 2e^2(e-1)^2$$

$$\text{MCD} = e-1$$

$$\text{mcm} = e^2(e-3)(e-1)^2(e+3)$$

106 482 no 100

$$b^2 - 7b + 6 = (b-6)(b+1)$$

$$eb - 2b + 4e - 8 = b(e-2) + 4(e-2) = (b+4)(e-2)$$

$$b^3 + 2b^2 - 7b + 4 = (b-1)(b^2 + 3b - 4) = (b-1)(b+4)(b-1) = (b-1)^2(b+4)$$

	1	2	-7	+4
1		1	3	-4
	1	3	-4	=

$$\text{MCD} = 1$$
$$\text{mcm} = (b-6)(b-1)^2(b+4)(e-2)$$